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General Instructions :

1. The question paper consists of four Sections - A, B, C and D. Section - A consists
of 8 questions of 1 mark each; Section-B consists of 6 questions of 2 marks each;
Section-C consists of 10 questions of 3 marks each and Section-D consists of 10 questions
of 4 marks each. Question No. 1 to 8 are Multiple Choice Questions where you are to
select only one correct option out of four given options.

2. All questions are compulsory.

3. In questions on construction, the drawing should be neat and exactly as per the given
measurements. Use ruler and compass only.

4. There is no overall choice. However, internal choices have been given in some

questions.
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Section - 'A' (WS-‘31")
Question numbers 1 to 8 carry 1 mark each.
T T 1 ¥ 8 Tk U YA H 1 F T

1. Thevalue of (2'x5') 5" is 1
@'x5') 5" H AT -
(@ 50 (b) 10 ¢ O (d 5
. (1)
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2. The present population of a town is 24000. If it increases at the rate of 5%

per annum then after 2 years it will be -

fepell el b1 SdHM SHHEAT 24000 B 1 97 T8 5% diftieh ¢ | wgdt € o 2 |

I A
(@) 26400 (b) 26460 (c) 24460 (d) 26640
3. The value of Z’-49 is
Z? — 49 2%7
77 hl HIH -
(@ (Z+7) (b) (Z-7) (c) 7 (d) 49

4. Degree of the polynomial q'° + ¢° — ¢* + ¢® is

TETR ¢ + ¢ ~ ¢ + ¢ HT T T -
(@ 4 (b) 6 (0 10 (d 8

5.  Which of the following is convex quadrilateral

(@) trapezium (b) rhombus

(c) Kkite (d) all three (a), (b) and (c)
Frer § ® F ST T

(a) (b) AT

(© @ T (), (b) 3R ()

6. The area of the base of a right circular cylinder is 35 cm? and its height is

8 cm. The volume of the cylinder is —

T od I oo & SER HT &h 35 o WL 3R S9E 8 WHL. T ST

3P © -
(@ 140 cm? (b) 280 cm? (c) 420 cm? (d 210 cm®

7. The order of rotation of a square is -

T ot 1 O HE T -
() 4 (b) 2 © 1 (d 3
7 @
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8. How many lines of symmetry a regular pentagon has?

T IS | g wniufa w1 fead W@ 22
(a) 6 (b) 5 () 7 (d 8

Section - 'B' (Ws-‘T')
Question numbers 9 to 14 carry 2 marks each.

U G 9 9§ 14 dF TAF T P 2 AF e

9. Evaluate (W9 T ®IWT) :- (0.03125) 7%

10. If 5> .25 =125, find the value of x.
g 521 +25-125 € A x 1 WH FG RIS

11. Solve for x: (x& fau g HifS@) : 53)_65=—1

OR ( 379dT)

% of a number is 20 less than the number. Find the number.

WE@TW%WWH@T@NW%IH@TWWI

P
12. In the given parallelogram -
PORS, /PQR=110°, find £PST 110°
XU gC 99 ISl PQRS H
ZPQR=110" ¥, ZPST ] HH T HIAQ| s
R S T

13. The curved surface area of a cylindrical pillar is 264m? and its volume is
924m?. Find the diameter of the pillar.

Teh SR T 1 dh I3 &hal 264 o7 WX SR SHehT STEd 924 S

e 21 @ 1 M 1A HITSU
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14. What is the order of rotation and angle of rotation for an

equilateral triangle?

Trarg IS 1 Yl wH SR gl wior @ 22

Section - 'C' (We-9’)
Question numbers 15 to 24 carry 3 marks each.

Y99 & 15 9 24 qF IAF U9 B 3 IF T

15. Evaluate (HM I HifW) ;- {((625)%)%}2

16. At what rate percent will a sum of% 3,125 amount to X 3,645 in 2 years, if
the interest is compounded annually?

forg arftier =a91 T 9, 33,125 &t URT 2 99 | T3 645 B S, Safeh oS

aTfifer gafed 2 22

OR ( 37914 )

Madhu bought a house for ¥ 1,31,25,000. If its value depreciates at the
rate of 10% p.a., what will be its sale price after 3 years?

HY TH R T131,25,000 § WA 71 AR Heh1 Yo 10 Ufaerd aftish <X § Hear
g, 3 od % UvE @Rl fawa god F e

17. Nidhi deposited X 7,500 in a bank, which pays her interest at the rate of
4% per annum, compounded annually. Find the amount and the interest
received by her after 3 years.

i 5 W o o 17,500 w1 TR, Siifer 5@ 4 wfae anfifer @ =ehofg =
T HIAT B Selfeh oA Aftier HAfS g 81 @i o =g 39 e = 31
fagem Fma ifs)

18. Using division method, show that (3x + 1) is a factor of the polynomial
12x3 - 2x% + x + 1.
a7 fafyr &1 T & g @R 6 (3x+ 1) 98U8 12x° - 2x2 + x+ 1 & Th

e B
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19.

20.

21.

22.

23.

24.

OR ( 3T@T)
Divide (y? + 2y — 35) by (y +7), using factor method.
(y? + 2y — 35) I OFES faftr &1 TN *W U (y +7) § 9 HiQ|
Find the quotient and remainder, when -6x*+5x?>+11x+1 is divided

by 2x%+1.
—6x+5x2+11x+1 i 2x%+1 T 9 39 W YRTHRA o JYRA A HITST|

2
Solve the equation (THIRIUT I T HIWT) :- (x+1)(4x-3)-4x*+5

Ax +1

The numerator and the denominator of a rational number are in the ratio

3 : 4. If the denominator is increased by 3, the ratio becomes 3 : 5. Find
the rotional numbar.

Teh R T & A9 3R e HT AU 3 : 4 B AR W H 3 =g fEan =g
YA 3 : 5 B WA €1 URET HWeA A e

One side of a parallelogram is 3 times its, adjacent side. If the perimeter of
the parallelogram is 70 cm, find the sides of the parallelogram.

wwa@ﬁaaﬁwﬁmmwagmw%ﬂmélﬁwa@ﬁa
1 AT 70 WAL B, @ SHHT YSMC 0 BT

Construct a quadrilateral PQRS in which. PQ = QR = RS = 5¢m and diagonals
are PR=QS=7.5¢cm .
T =g PQRS ®1 W #X @ PQ=0QR=RS - 5 4., ?, 3k fasol
PR =05=7.5 9.1 2|

The perimeter of a trapezium is 104 m, its non-parallel sides are 18 m and
22 m, and its altitude is 16 m. Find the area of trapezium.

ot ToeTr o1 IR 104 HIX @ 91 SHRT STEAM o3 18 TR o 22 HeX
2 3R MR el & o= H g 16 HeR T THAE FT GFAmA T

EAlELY
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OR ( 3TYCT)

The length, breadth and the height of a cuboidal box are 2.1 m, 1 m and
80 cm respectively. Find the

(i) area of canvas required to cover this box.

(ii) cost of canvas required to cover the box at ¥ 45 per m?.

Teh SFIhR Toed o1 otas, =S 3R Semg wael: 2.1 #, 1 @ieX qen 80 9.,

21 J1a HifS -

(i) 39 fosd W @MU & foIq Evges HaE o1 &=a|

(i) T 45 gfa X & W ¥ 9 fesd W U & fou oavass ohaard i

HeA|

Section - 'D' (@3-‘T’)
Question numbers 25 to 34 carry 4 marks each.
T WA 25 W 34 T UH U &b 4 I T

25. Find the value of (A Td HITST) : 4><81’y2(81V2 +81%)

OR ( 314 )
x+l x+5 x
Solve for x:[§] x[§} :(§] x%
3 3 3 9
x+l x+5 x
[8} x[Sj =[8] O x® fau wa Ff
3 3 3 9

26. The difference between the compound interest and simple interest on a
certain sum of money at 8% per annum compounded annually for 3 years
is ¥ 308. Find the sum.

el T & wohgfg oS SR R oS 1 =R i a8 & fau 89 fderd
HT X W 308 7 SR A oftier HAfd giar g1 TR 9 kit

27. The value of a refrigerator, which was purchased two years ago, depriciates
at 12% p.a. Ifits present value is ¥ 9,680, for how much was it purchased?

T TR S Q1 o g @il T o, W ged ufd o 1296 S S 81 At e
T IAHH Hed 29,680 B 1 Fasy fms fhad &1 Sl T on?

28. Divide (-1+x*) by (-1+x) and verify your answer.
1+x4) I (~1+x9 § 907 T o 3799 W k! FAd Hifsa|

2T™ (6)
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29. The distance between 2 towns is 300km. Two cars start simultaneously
from these towns and move towards each other. The speed of one car is
more than the other by 7 km/hr. If the distance between the cars still
facing each other, after 2 hours is 34 km, find the speed of each car.

T FHEE H o= H T 300 FRAHR Bl HR AL-WH T FE G Th T HI
TWE Tl T T HR 1 =1e S0 @ 7 fhetiiex ufq s eifer 21 afg < w0
% T HR F = B U 34 ThaHI © 90 FR Th TR & 9@ €, d R
i =l A iy

OR ( 3794 )

The sum of the digits of a 2 digit number is 10. The number obtained by
interchanging the digits exceeds the original number by 36. Find the
original number.

T 3R] STl Teh G 3R] H1 AN 10 B G F k! i g€ W UE G|
IrEfesh G W 36 iU ¢ arkfash G T S

30. In the given figure, AABC = AA'B'C'and AB||A'B', BC| B'C’
show that
(i) AA'BBis a parallelogram.
(i) BB'C’Cis a parallelogram.
(iii) Is AA'||CC'? Why?
(iv) Is AA’'C’C a parallelogram?
& T ofpfd W, AABC=AA'B'C' @ C C
3R AB|A'B' . BC|BC &I
ENIFWED B B
(i) AABB T FARR =q4s 2
(ii) BBC'C TH TR =gy« 21
(il )91 AA'|CC' €7 Fif?
(iv) 1 AA'C'C T HARR =qqs 22

31. The diagonals of a rhombus are in the ratio 3 : 4. If its perimeter is 40 cm,
find the lengths of the sides and diagonals of the rhombus.

Teh TS & foeroll st U 3 : 4 81 A% 38k aRHTT 40 I, € o ST
oqeetl g fahon i TEEAr A wiftu)

32. Construct a quadrilateral PQRS in which PQ= 5 cm, QR = 4 cm,
RS = 4.5 cm, £Q =90° and /R =135°.
% 9q9s PQRS &1 T &ifvw fSad PO = 5 9., OR = 4 4.,
RS = 4.5 U, £Q=90° 3 /R=135" B

A A’

2T™ (7)
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33. Aniron pipe is 21m long and its exterior diameter is 8 cm. If the thickness
of the pipe is 1 cm and iron weighs 8 gm/cm3, find the weight of

pipe. [Use T = %-I

@aﬁ%@qﬁw%mﬁm . © 3R 3Eeht aredl =ar| 8 A, B Ak Iy
e 1 . ®, 3R WiR 1 9R 8 UHAM WH. ® A UEY H IR A
EAIEI {n =% SIS }

34. A cylinder of curved surface area 1,250 m? is formed from a rectangular

metallic sheet. Find the dimensions of the rectangular sheet if its length
is double its breadth.

Teh o fSTEeht ok g eFthet 1250 o . €, Teh STEehR o sh1 =ed |
TR T B1 AR A i faHT TSI, A sEenl o =eE 9

T R
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